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Subject : GE_Q01-Q10_PRT22FEBSH1
Question ID:- 1

MIRACULOUS

Choose the word similar in meaning to the one given above.
(1) Fervent

(2
(3
(4

) Extraordinary
) Reverend
) Odd

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

FEROCIOUS

Choose the word opposite in meaning to the one given above :

(1) Mild

(2) Fervent

(3) Tame

(4) True
Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, OptionID :- 7,

. 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3




Identify the part of speech of the underlined word in the sentence given below

This dish is not to his liking.

(1)  Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 9,

« 2, Option ID :- 10,

« 3, Option ID :- 11,

« 4, Option ID :- 12,

Answer Given:- 4, Option ID : -12
Question ID:- 4

He has always liked this food.

Choose the option in which the above sentence has been correctly changed into Passive Voice.
(1) This food has been always liked by him.

(2) This food had been always liked by him.

(3)  This food has always been liked by him.

(4) This food has been to his liking.

Options:-

«1, Option ID :- 13,

« 2, Option ID :- 14,

« 3, Option ID :- 15,

« 4, Option ID :- 16,

Answer Given:- 3, Option ID : -15
Question ID:- 5

Sunita said, “Please help me, Ram.”

Choose the optien in which the above sentence has been correctly changed into Indirect Narration.
(1) Sunita asked Ram for help.

(2) Sunita requested Ram to help her.

(3) Sunita asked Ram to help her.

(4) Sunita told Ram that she should be helped.

Options:-

.1, Option ID :- 17,

« 2, Option ID :- 18,

« 3, Option ID :- 19,

« 4, Option ID :- 20,

Answer Given:- 2, Option ID : -18

Question ID:- 6



Choose the option in which the following jumbled words/phrases have been rearranged to form a
meaningful and grammatically orrect sentence.

(A) full empl yment
(B) eems

(C) years away

(D) stll

(E) light

1) (D) (© (B) (A) (E)
(2) (O (D) (E) (B) (A)
(3 (B) (O) (D) (A) (E)
(4 (A) (D) (B) (E) ()
Options:-

»1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7
Identify the part of the following senterv e which contains an error.
Since four years he has been teaching here.
() (b) (©) (d)

C

1

~—
S

a
b
d

~— ~—

2
3
4)

P N
~—

~

Options:-

»1, Option ID :- 25,

« 2, Option ID :- 26,

« 3, Option ID :- 27,

« 4, Option ID :- 28,

Answer Given:- 2, Option ID : -26
Question ID:- 8

Fill in the blank in the following sentence by choosing the correct option out of the ones that follow
each sentence.

[ think he is quite the idea.
(1) taken ver

(2) taken out

(3) taken with

(4) taken on

Options:-



«1, Option ID :- 29,
« 2, Option ID :- 30,
« 3, Option ID :- 31,

« 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Fill in the blank in the following sentence by choosing the correct option out of the ones that follow
each sentence.

[ would have helped you ifyou me.
(1) asked
(2) ask

(3) had asked
(4) have asked

Options:-

«1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 4, Option ID : -36

Question ID:- 10

Fill in the blank in the following sentence by choosing the correct option out of the ones that follow
each sentence.

In his looks he has taken his father.
(1) for

(2) wup

(3) after

(4) on

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_PRT22FEBSH1

Question ID:- 11




et U RN &Y g I X IMUIRE Uy o1 waitia fed fawen o wmm sifan -

ST W H T4 e & AT o e o fadeg oy W | Afead F qafe R o e € 1 o=
=t @t FmTo gu fo w@refa o) swar e o S T & TR $8fae 3= we o, C9Hg-fmim &
T @8I 7 1 dIAd T G959 o o & fau 3= frd o fasty =Rt ofr srwHt gfie a7 ek 5w
HqHTS W $ R = )

@t fadsrE &1 Siaq @8 o1 -

(1) =afga@a-fam

(2) Ha-famin

(3) HAS-fAHiw

(4) TaEE-fAdm
Options:-

«1, Option ID :- 41,
« 2, Option ID :- 42,
« 3, Option ID :- 43,
« 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

et fEU TN &t ggE I WX SMUIRE UvA @1 waitie St fawen o =R sifan -
3T T H A9 Tng o ARt S off fadeEg 3y R U ) s & ufe w e wed €1 9=
w1 Fato gu fomn @l o) Sea g S 8] & Fehdt ) $8feTe 3R et o, WHa-fAei @

QAT § 1’ geved 9= 995 o g & fog 3R fe o faw &) 3ie srat gfte hfga = ek Tow
7S @t AR e )

afdi HaE® e E
(1) 9RER
(2) &
(3) Hg<™
(4 T%
Options:-

«1, Option ID :- 45,
« 2, Option ID :- 46,
« 3, Option ID :- 47,
« 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13



e fou T Y Uzt 39 T ImuTRa Wy W uaitye e fawmeq i =@ s -

Ay W H Fo17 ez o A9t o1 HwE off faameg oy s v =fyadl % wofe i a wee § ) I
el &1 970 gu faar wnefi ofR gaaH U &1 9 TE1 & §F | 39 S9H #e o, - e 8
W A& 2 1 dacuvad 9= 79 % FE & fou 3= fdl o faviy &6 s3I avat gfie shfga = e wwmr
TS I AR oA fean)

faasrg Far g wmed @ 2
(1) fogd o wdT
(2) *=dA wE aHINS
(3) wWafas & qoF
(4) G I A
Options:-
.1, Option ID :- 49,
« 2, Option ID :- 50,

« 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14

2 feu i Y ugwt ST WT muTRa w9 w1 aitie e fawen @ wmm #ifae -

A 9 & el qeg T 1 el off fadmmg AH 1 0 | SAfFT % Fafe | g S €)1 9=
7A@T 1 7oy gu far wnefiq o) sqar W w1 S FET 3 gehdr | 38 S #e o, gea-famte &
W AT ) dc9vE 9= 999 o i & fau S=iH fe ol farie skt @i a1t gfie hfga A e wmm
TS 1 AR A o)

fedsrg i 3 AHa-fAgio & fau

(1) = favm @t g

(2) nfd ferg =

(3) HAW HHW &I T

(4) d faww = g
Options:-

«1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,
« 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15



it feu meneT @Y UgEt W WX 3muf| Uy o waitua e fawew @ wmm sfag -

3 W H A1 T S A7 o e off fageEg oty ) sfeadl & gafie e wea € 1 aw
o=t =1 fmi gu oA @i oiR sear g 1 9 98 @ Fhdn | 3afae 3= e a1, wee- e &
T A8 B 1 deavag F= 599 o A % faw 329 fe @ fasiy &6 oir ere gfte fga 7wk wm
S ) HR =E )

‘anfez’ & fadm -
(1) e

(2) THd

(3) TR

(4) fowga
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,
« 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

‘Igr’ F Hi-Ta=g R -

(1) g+

(2) 34+ 3N

(3) ¥+ R

(4) 3§+ AW
Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,
« 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

FoHH-TEHe F1 FTHTT IH 3

(1) «d-drg

(2) wU-TEF

(3) SATEE-HRS

(4)  T=h-HEl
Options:-

«1, Option ID :- 65,
« 2, Option ID :- 66,



« 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 18

‘aed’ @ gafaEE vee § -

() W
(2) YA
(3 gfe
(4) S
Options:-

«1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,
« 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

“fmta’ o faciq & -
(1)

(2) sfad

(3) |

(4) ™
Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,
« 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

‘“Ue A Ud 78 0 | 91 o L@iThd AN H F © -

()
(2) =
(3) S RIHE]
(4 HI
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,
« 4, Option ID :- 80,



Answer Given:- 2, Option ID : -78
Subject : GA_Q21-Q30_PRT22FEBSH1

Question ID:- 21

Which of the following has NOT been guaranteed as a Fundamental Right by the Indian
Constitution ?

(1) Personal Liberty

(2) Free Legal Aid

(3) Constitutional Remedies
(4) Freedom of Profession

9 % Fiaar g fFefafes § 4 52 = g9 sifuar & &9 § 7 7€ o w2
(1) <fes @dFa

(2 T:ges fafus w@gEa

(3) Hifaufs ITER

(4) SHIEA ) EaFdl

Options:-

.1, Option ID :- 81,

« 2, Option ID :- 82,

« 3, Option ID :- 83,

« 4, Option ID :- 84,

Answer Given:- 2, Option ID : -82

Question ID:- 22

State Highways in India are maintained by whom ?
(1) National Highways Authority of India

(2) Central Public Work Department

(3) State Public Works Department

(4)  Municipal Councils

T B T TS 4 1 [@-@E fhe gr s 2
(1) ¥R LT JSHrT Wik

(2) w1 @ At faum

(3) A A Fmi fawm

(4) TR g gded

Options:-

«1, Option ID :- 85,
« 2, Option ID :- 86,
« 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87



Question ID:- 23

Which kind of soil has capacity to hold moi. ture and is ideal for growing cotton ?
(1)  Arid soil

(2) Redsoil

(3) Black soil

(4) Laterite soil

foom R = fdl § 76t @l a9+ ) aAdl el @ 3 97 U H @dl % AU s gt 82

(1) = fae

(2) o faet

(3) Hrait e

(4) o gAgR R
Options:-

.1, Option ID :- 89,

« 2, Option ID :- 90,

« 3, Option ID :- 91,

« 4, Option ID :- 92,

Answer Given:- 3, Option ID : -91
Question ID:- 24

In 1920s, the tamous car manufacturer For started using the ‘assembly line’ technique te
manufacture ars after witnes ing the technique in which of the following places ?

(1)  Fruit market

(2)  Windmill plant

(3) Slaughter house
)

(4) Tea plantation

g9 1920 ¥, U wfgg R fafmiar we A fAefalfas 4 9 fag e = 3dad aa’ da-il® 6l e@at
FR o4 H I Al 1 FAT HAT Y& fohan 412

(1) A TR

(2) UEF-TER] I

(3) SFES W

(4) RG]
Options:-

«1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94



Question ID:- 25

Which of the following terms was created from a Western view point to refer to the countries to
the East of the Mediterranean ?

(1) Orient
(2) Anglicist
(3) Occident
(4) Briton

qHYA WR o d &1 S 3lel <3l o1 Seeid & o uieaHl Fene § frefafad 4 9 oy s & 9o
eran 2

(1) enfEe

(2) Ufafae

(3) sHifwaee

4) foeA
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 26

Which Indian actor was awarded the ‘Indian Film Personality of the Year’ in the 53'd International
Film Festival of India (IFF1)2022 held i 'Goa ?

(1) Rajnikanth
(2) Prabhas

(3) Chiranjeevi
(4) Mohanlal

Tiren § erfea 53 9 SiaieE ynRdE fhen e (SE.UWUE.AE) 2022 H fRg wRdE sifiaar &
‘gfem ffen wdafet ot g 90 1 QR fomn mn @2

(1) TsHIHIq
(2) 99
(3) TS
(4) e
Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
. 3, Option ID :- 103,
« 4, Option ID :- 104,




Answer Given:- 2, Option ID : -102

Question ID:- 27

Why were the National Awards for Empowerment of Persons with Disabilities conferred on 3
December 2022 in India ?

(1) Famous scientist Stephen William Hawking was born on 3td December

(2) Helen Keller, famous author, who was blind and deaf was born on 3rd December
(3) Ministry of Social Justice and Empowerment was established on 3™ December
(4) December 3' is the International Day of Persons with Disabilities (IDPD)

qd § Ui fesaier wuifae qOaRR 3 feqwar, 2022 &I #ii fean 7 ?

(1) 9feg asie ©in faferas g o 574 3 foawar, @1 g a1

(2) WG o Tl her, S gftee iR sfEr &, w1 st 3 fewwar =1 g Al
(3) ISR = S SAftreRTar Haerd i wurd 3 feavat &1 g8 of |

(4) ‘oA feaaimse fegw’ (eSS 3 fewmss &1 9ar s 2

2

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
- 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Which book was awarded the Bal Sahitya Puraskar 2022 in Dogri language ?
(1)  Sikh-Mat

(2) Nani Sunao Kahani

(3) Tohfa

(4) Chanda Mama

e g% 1 SR 9191 § a1 e qEERR, 2022 YeH R e ?

(1) TowE =9

(2) T gl weE

(3) drE®

(4) =M
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112




Question ID:- 29

Who took over as the President of the Board of Control for Cricket in India (BCCI) in October
2022 ?

(1) Saurav Ganguli

(2) Jay Shah
(3) Roger Binny
(4) N. Srinivasan

ISR, 2022 H AT foche sheiel dre (st |1 Hf 1) &% o1eae] i 94 ?

(1) ERa et

(2) TEWE

(3) s for=t

(4) T FifEEE
Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,

- 4, Option ID :- 116,
Answer Given:- 1, OptionID : -113

Question ID:- 30

Match the Indicator in List 1 with the Colour it brings when added into an acidic solution in
List 2.

List - 1 List -2
(A) Litmus Paper (I) ~~Dark Pink (Magenta)
(B) Turmeric (I). “Coloutrless
(C) China rose petals (IIT) Red
(D) Phenolphthalein (IV) Yellow
Select the correct answer using the codes given below :
(1) (A)-(D), (B, (O)-(1mD), (D)-(IV)
(2) (A)( (B)-(I1D), (C) ( V), (D)-(I)
(3) (A)(IH (B)-(IV), (©)-(0), (D)-(IT)
(4)  (A)-IV), ( )-(I), (C)-(II), (D)-(TII)




Tl - 1H fou ¢ Hehee =1 ol - 2§ Hefeles o1 27ita faerad § foam o o9+ aret 0 9 fers i)
Tl -1 T - 2

(A) fereme Tu (D e e (st
(B) w@eal () TR

(C) =i Tems =i ufedl () e

(D) WATCTIATEATS (Iv) dien

==l QU 17T ShIE 1 GART hid gL Wel ST I T4 hifeid |
(D) (A1), (B)-(II), (O~(m), (D)-(IV)
(2 (A)-11), (B)-(1D), (O)-(1V), (D)-(T)
(3)  (A)-(II), (B)~(IV), (©)-(D), (D)-(II)
(4) (A1), (B)-(I), (C)-(I), (D)-(II)

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_PRT22FEBSH1

Question ID:- 31

How many odd numbers are there in the fo]lowmg Number sequence each of which is immediately
preceeded by multiple of 3 and is lJl‘I]Iled_latE]é/‘ succeeded by multiple of 4 ?

7,6,7,8,3,7,46,7,9,7,6,1,8 7,7, 6,58
(1) 4
2 5
(3) 3
4 2

Frafafad gen wa ¥ U ot fom ded € 599 § udis & THeH Teel 3 &1 TUTS] 3R Ushed 16 4
T U B 2

7,6,7,8,3,7,4,6,7,9,7,6,1,8,7,7,6,5,8

4

5

R
3

Options:-
.1, Option ID :- 121,
« 2, Option ID :- 122,




. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32

Sunil is standing 30 metres to the right of Mamta. Raj is standing 60 metres to the south of Sunil.
Priya is standing 40 metres to the left of Mamta and Seema is standing 100 metres to the north of
Raj. In which direction Seema is standing with respect to Priya ?

1 North

3

(1)

(2) West

(3) North - East
)

(4) North - West

e, Idl % Sl 3R 30 HieX &1 g W @E | TS, Trd o i § 60 Hiee gl @ ¥ 1 T, wwa
o 9t 3IR 40 Hiex X @t & qon G, T % SR H 100 HeX @ wel 1 A, e =t e e | w
27

(1) W
(2 wR=M
(3) I
(4) TH-IREH
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

- 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33

A, B,C, D, E, F, Gland H are eight friends sitting around a square table in such a way that four of
them sit at four corners while another four sit in the middle of each of the sides. All are facing the
centre of the square table.

A sits third to the right of D. B sits third to the right of H. There is only one person between B and
C. Cis not neighbour of F and A. Fis at one of the corners. G and B are immediate neighbours of
F.

Who is sitting opposite to F ?

() H
(2 E
(3 D
(4 C




A, B,C,D,E,F, G 3 H 7 2118 fog t avier 8 & =/ 31 39 YR 93 & f 378 9 = fiyg =)
Il H oS ¥ Sl o7 =R o ueis on % uen § 39 T weft %1 g B % Oy # el T

A, D% ET SR 9 T W AST §1 B, H % gl 271 dE T W ae] § | B 31K C % =14 e U =i
1 C, F 91 A1 TSl 76 %1 F UF & § 921 21 G 3R B, F % fisheay wSwt &

F o QT i sia1 @ 2

(1) H
(2) E
(3) D
4) C
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

Given below is a question followed by two statements numbered (I) and (II) each containing some
information, Decide which of the statement(s) is/are sufficient to answer the question.

Q : Among five students S, T, U, V and W, mwhoscored the highest marks ?
Statements (I) : T scored less than W but more than V.
Statements (II) : V scored more than S.and U.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient.

(2) The statement (II).alone is sufficient to answer the question while the statement (I) alone is
not sufficient.

(3) Both statements (I) and (II) together are necessary to answer the question.

(4) Both statements (I) and (II) together are not sufficient to answer the question.




e w A fean B e A €1 e (1) AR h9F (1) feu e € S 8y § 9 SHei <1 T8
21 31y fof FifST foF S Ty Fod we 1 SR <A % o waia 372

(M) 9= BEAIS, T, U, VIR W H ¥ gaifys i fea ara e ?

HIA (I): T, W T &Y 3% 9Ta el & fobg vV iferes ois wrd ontan €

WY (1) : V, ST U H e i Wra &¥al §

(1) =R (I) 3Thel Y 1 I <1 & foIe 7 § Siafer shem (11) el wad =&l &1
(2) YA (II) AFA ¥ &I I S o foT¢ FaT & Sielfeh e (I) Tehal 94T &l € |
(3) YU (I) 3R HYF (11) THI foHeTemt 797 &1 3T 31 F o smavas §

(4) R (1) R e (1), 31 foas 997 &1 W 39 F foe v 72 2

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
- 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, circle represents non # educated, square represents non tax-payers
triangle represents athletes and rectangle represents married persons.

How many non - educated, tax - payers aré married athletes ?

m\ 1

| 13| 1
SNTANET2 R4

9

(1 11
2 17
3) 15
(4 13




e feu U st | g IR-Tafard =, & I-wgransd o, Bs ueltel @ a1 e faenfed safedE w5
yfafife wwar €

15

| 18] 11
EANCANET2 RV,

g2,

o TR-TRrferd, s faanfed woreie € 2

(1) 11
2 17
(3 15
(4) 13

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
- 3, Option ID :- 139,

- 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT22FEBSH1

Question ID:- 36

Mehraaz used a magic shorfcut key combination that permanently deleted a file without storing it
in Recycle bin. Identify from the following this magic shortcut key combination in MS Windows.

(1) Alt+Delete
(2) Ctrl+Delete
(3) Shift+ Delete
(4) Tab+ Delete

TEUS 7 MS Windows H Wk U8 HiSeh 9Meshe &i-HasH &1 ¥ar a1 e s wEa & f-uafea
fam o =R T fom =3 feote w2 fomn frefafea | 9 g Ofsms sz Fi-daem #1929 Hife
(1)  Alt+Delete

(2) Ctrl+Delete

(3) Shift+ Delete

(4) Tab+ Delete

Options:-




.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which feature of an operating system allows more than one program to run Concurrently ?
(1) Multiprocessing

(2) Multitasking

(3) Threading

(4) Multiprogramming

Frqifen fawen =t o[ Hi fodma (W) U ¥ afye T s 991 Far il A S 82

(1) wegERET

(2) HEArERT

(3) gfen

(4) HEHRITET
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

This key when used with a character key on the keyboard helps type a capital character otherwise
types a lower case character, Which key is this ?

(1) Ctrl
(2)  Shift
(3) Tab
(4) Al

9 9 ‘F (Key) o1 FEN Fi-a1S W fhH FEet #1 & Wy o o € 9 98 UF Hfuee FiE F 26y
T H I HE & ST T8 SIS T HLFT TEY Al ¢ | TE i i G B ?

(1) Ctrl
(2) Shift
(3) Tab
(4) Alt

Options:-

.1, Option ID :- 149,




« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Which of the following computers are ideal for daily life data and word processing including
creating professional presentations ?

(1) Mainframe computers
(2) Super computers
(3

)  Micro computers
(4) Mega computers

frfafad § 9 =9 ¥ FrgX dikvme fisiees a9 wfed < siaq sr1 sin g€ afe & fau suge
g7

(1) HI%H HFF
(2) G HER
(3) TSR FE
(4) HT FER
Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Which of the following does not support cloud storage directly ?
(1) Google Apps

(2) Canva

(3) Dropbox

(4) MS-Paint

Frafafeas § @ $F @9 Fase BIE F 9UR 77 S 2

() TETH

(2) =

(3) SHEE

(4 THEE-I
Options:-

.1, Option ID :- 157,




. 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Subject : UL_Q41-Q55_PRT22FEBSH1
Question ID:- 41

‘Growth’ is defined as :

(1) Reversible Qualitative change in body
(2) [Irreversible Quantitative change in body
(3) Reversible Quantitative change in body
(4) Irreversible Qualitative change in body

‘gfg’ =t aftem <t St 2

(1) YRR H FeRHvE oI qiEdT & &9 4
(2) YRR H SHcHAVIY HETHS TR & ®9 H
(3) IRR H FcHHUE AEeTE giadd & 9 °
(4) YRR H FFHIUIY [UTcHS e ok 'Y H
Options:-

.1, Option ID :- 161,
- 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

Heredity and environment influences :
(1) Growth and Development

(2) Social behavioux

(3) Emotions
(4)

4 Home Environment

SafERa AR TEfERe F venfed g ®
() g o o

(2) HHEISF HTEH

(3) Hem

(4) TR

Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,




. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43

Which one of the following factor is essential for child’s development ?
(1) Moral dimension

(2) Mental growth
(3) Social -emotional dimension
(4) Physical growth

wTesh o feehr o fere feifera & © =an sifamd =mer 82

(1) Afasw s
(2) HAfEH faw™
(3) HEISTR-Hia T T
(4) WRIRF T
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 2, Option ID : =170

Question ID:- 44

is an example of cogniﬁve learning :

(1) Dancing
(2) Feeding
(3) Cyclining
(4) Thinking

Tr=ifera o 9 = daFTeTss ST 1 SSRL § 2

() T
(2) rsH faam
(3) HEHd FeAMl
(4) TH@

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176




Question ID:- 45

Which one of the following is developmental disability ?

(1) Anxiety

(2) Autism

(3) Leprosy

(4) Low vision

Fr=ifera o & o faemrremens .9 & 2
(1) gf=Ea

(2) =ifesy

(3 F=IM

(4) o g
Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

How to inculcate moral values among students ?

(1) Separate moral teaching periods

(2) Through co-curricular activities.

3) The teacher should set selfexample as role model to influence the children
)

(
(4) Through Panchatantra stories

Torenfef=ii # Ao Hodl o o w9 foran s Hean € 2
(1) Sfaw foren s 3 wensti &1 TwEeE T

(2) OIS HETHT HEEA o A 9

(3) SASATYHRI I Tl ol YHIad L o Tl T3 ol 7Y Aok o B9 H W&d LA =My |
(4) HEdA I FHAT GAHR |

Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47




‘Struggle with Identity” is feature of :
(1) Adoloscents

(2) Adults
(3) Childrens
(4) Teachers

‘e 9 Hed” Freiferd § & ferwent fadmar g2

(1) Tervirreeen

(2) 9F=

(3) ©meTH

(4) TR
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
« 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48

If we don’t channelise the positive energy of this group, it may prove detrimental to society. Which
one of the following is in this group ?

(1) Anganwadi workers

(2) Adoloscents
(3) Social activists
(4) Self help groups

7fe &9 39 HHE  SATHA] F! HENHS Fell %1 Hel oo § e 78l d €, 91 98 5o & fog e
A gFa T 1378 e H Feifea § 4 F 2

(1) SAFTHATS! hrehdl

(2) Teremrerean o Al

(3) EMIRSE

(4) E-HEHEd 99e
Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49




(1) present day youth in school.

(2) teachers,
(3) parents.
(4)  school leaders.

Feifera # & forren fore =maanfae fadmmt =t Fregfe o =6t win & 2
(1) FaHHHIeh el & Ja&h

(2) SAHATIH
(3)  HrT-fo
(4) TS & @
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

The appointment of professional experts is need of the hour in case of :

Question ID:- 50

The cognitive behaviour of children could be reflected as :
(1) lateral thinking,.

(2) convergent thinking.

(3) divergent thinking.

(4)

4 creative thinking.

A & HAHIHT e S 8 Hohdl © :
(1) TifeE e & ®H |

(2) TeEEwRl fHad & w9 71
(3) afges fofea & w9 #1

(4) GeHIHS Toiad o 9 H |
Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
« 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51




In present day conditions in classroom, what could be the major challenge for a teacher ?

(1

To achieve academic excellence

)
(2) To make children play on play grounds
(3) To sustain the interest and attention of the students
(4) To keep children away from cell phones

SAHM FHA H & el i S I S@d §U AT o fou =St FHIdl F1 8l Hehell © 2
(1) Sterfires Sepea wrw FE

(2) deAehi Sl G o HeM H W & ot URa e
(3) foenfefai it wfa 3ik 37 wam w1 FRa s T |
(4) @retehi Sl HiaTse HiA § gL @Al

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

What is juvenile delinquency ?

(1) Abnormal behaviour

(2) Display of antisocial behaviour whigh'cannot be controlled
(3) Mood swinging behaviour
(4)

4 Aggressive behaviour

TR oTary = & 2

(1) STIEMER STEER

(2) Gurs fadidveeRr &1y fod frifia =& e sn v §
(3) HARYN H giEd+ Hetl Seer

(4) TR SHEER

Options:-

.1, Option ID :- 205,
. 2, Option ID :- 206,
« 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53




Home is socialising agent.
(1) Secondary

(2) Main

(3) Primary

(4) Supplementary

T8 WTHTS1hL srfirpa T
(1) fadfIe

(2) 9=

(3) wiufHeR

(4) STTH
Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

The school leader must encourage :
(1) Students to voice their feeling
(2)
(3) Parents to visit the school frqumtiy
(4)

Teachers to experiment

NGO s to render suggestions’

(1) Tomnferai =i o S SAfeas w3

(2) STEATIRI FHIMART B & faw
(3) wa-fidn =1 sgfask 9 9 Sha & U FH H
(4) TR TN Hel (A S eh) g g faw s

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
« 3, Option ID :- 215,

« 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

el i 1 P 8§ S s SeE S e

Question ID:- 55




Which one of the following could be the community activity ?

(1) Picnic

(2) Village survey

(3) Study tour |
)

(4) Going to movie

Treiferd o | =1 SHRIEe e & Hehdl ¢ ?

(1) To=sfa

(2) H-HelEm

(3) ST A

(4) Tom1 @A S
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT22FEBSH1
Question ID:- 56

What is the purpose of time table ?

(1) To calculate the students’ in time

(2) To provide leisure time to students

(3) To provide scope for Training

(4) To prevent wastage of time and energy

OG- TR T 7 TS § 2

(1) w53 o fornfefi =t o

(2) Toenferi =i syaeEm™ %1 99 &
(3) e =it SRy W

(4) THA A F F YT H A

Options:-

.1, Option ID :- 221,
- 2, Option ID :- 222,
- 3, Option ID :- 223,

- 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57




What is the purpose of “Feed back” in school system ?
(1) To asses the function of school

(2) To introspect and improve

(3) To measure the Learning levels

(4) To get grants from the Governments

THEl G (YUTet ) H Wigse F I TN © 2
(1) hal & HEHW H HedAiHA

(2) SAMIHT T FUR

(3)  sAferTe Tl w1 HOT

(4) HERR Y AIEA 9 HE

Options:-

.1, Option ID :- 225,

« 2, Option ID :- 226,

« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58

Why school inspection is carried out ?

(1) To find faults with Principal

(2) To grant funds

(3) To know the potential of school function
(4) Itis an administration requirement

Tpel & Fdter freifrg 8 & forg 3egva 9 fran s @2
(1) v H S g fag

(2) fafeml 33 .3 fom
(3) Tomre™ & SR i GHAT ST o fere
(4) T8 UF WerEfTR AfaErda §

Options:-

.1, Option ID :- 229,
- 2, Option ID :- 230,
. 3, Option ID :- 231,

- 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59




School Annual plan plays the following role :
(1) Staff can be guided.

(2) Syllabus can be properly covered.

(3) Easy to supervise.

(4) All school activities can be conducted in an orderly fashion.
faerer &1 arftfes s &1 % 2

(1) =94 FH=E] o qrieeE frma s a2

(2) reEEy & fafuea gu fean s g 2

(3) THALTY FHIAT ST B

(4) =99 e w1 9ot Mfafafiar gee w9 e #t s W €
Options:-

.1, Option ID :- 233,

« 2, Option ID :- 234,

. 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Question ID:- 60

is one of the main characteristic feature ‘of lesson plan.

(1) Well defined Instructional objectives
(2) Number of text books prescribed

(3) Periods to the allotted

(4) Remedial teaching details

Freifera ® & s WSS =t Y fadha € 7

(1) G-uRenfoe s 338w

(2) fafed wrggyes! =1 den

(3) erEfed &1 SaTe sl #i weEear fauf
(4) SUIRTCHER EAGH ferero

Options:-

.1, Option ID :- 237,

. 2, Option ID :- 238,

« 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 1, Option ID : -237

Question ID:- 61




The “School” is a powerful

(1) primary socialising agency.

(2) centre for communication of Information.
(3) powerful secondary socialising Agency.
(4) instrument to learning.

Thd U ufeemed

(1)  wreifies Grarsiietor TeiEt § 1
(2)  HEA EYE H FE T

(3) fTadiaer GrTSieRT TS 2
(4) @fermy T EEE

Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62

‘Reasoning’ is associated with
(1) Cognitivism

(2) Behaviourism

(3) Realism

(4)

4 Naturalism

‘gehafe iR H § fopes HrEafda 2 7
(1) HIFETE

(2) SHEERAEG

(3) FUErg

(4) A=flehaEmR
Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
« 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63




‘Behaviourism’ refers to

(1) Experiment
(2) Environment
(3) Assessment
(4) Adaptation

‘SyaeRaTe’ # arad iR § 9 e g2
(1)

(2) TEER
(3) HHHEA
(4) SAgFRaA

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

The students will be highly motivated through
(1) Expriment method

(2) Protect method

(3) Modern ICT tools in class room,

(4) Lecture -cum- Demo technique,

Taenedt faerifera o 9 form Arem € 9ga sifyes sfvofa € 2

(1) 9= fafy
(2) s fafd
(3) ReT H SUES MY GEAT iR R WEfiTRT % S

)
(4) AFEAM HE TG — qehelh

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
- 3, Option ID :- 255,

« 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Question ID:- 65




What is the role of Parents Forum in school education ?

(1) To extend support and give constructive suggestions to school
(2) To organise community programs in school

(3) To organise Tournaments

(4) To organise ‘Shramdan’ in school

el e # AT 5= ) @ yfae €2

(1) Terd YeF F 3R faees =1 s e S
(2) Tomnea # ArgeEitaes HEER AATSd HE

(3) A AT HEA

(4) Tormers | ‘' gHEH’ 1 SESH HET

Options:-

.1, Option ID :- 257,

« 2, Option ID :- 258,

« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257

Question ID:- 66

What essential quality of teacher school be assesseéd during interview ?
(1)  subject knowledge and sense of humour

(2) Good communication and critical thinking

(3) Patience

(4) Interest in teaching

HI&TeehR o SR A9 J i | | ford e o qodis T s =nfen ?
(1) faua = 3w e fome wE

(2) ST HIYY SR THwCHe T
(3) o4
(4) e | w4

Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
« 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67




The project method is based on :

(1) Exploration

(2) Experimentation
(3) Learning by doing,.
(4) Collection of data.

yfErs fafy f=ifea § & fom @ emenfig §2

(1) =g
(2) wER
(3) SE-fAoaeT & HiEam 4 e
(4) T Hehed
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68

What is meant by instructional material :

(1) TItis Teaching and learning material used in classroom
(2) Computer software

(3) Hardware

(4) Testing material.

SRS |t Herd: 1 87
(1) =% %an H g3 Do siferm wrht 2
(2) HEHST GRS

(3) BRI
(4) oo JE
Options:-

.1, Option ID :- 269,
- 2, Option ID :- 270,
- 3, Option ID :- 271,

- 4, Option ID :- 272,
Answer Given:- 1, Option ID : -269

Question ID:- 69




How the classroom environment should be conducive for learning ?
(1) Well ventilated classroom

(2) Supportive and non- threatening

(3) Classroom should be equipped with A-V-aids

(4) Comfortable furniture

el 1 AR FE TR SAftrm § e g =i ?
(1) e H 39 FaEa

(2) e I HIRTel WEANTHeS SR W Ued 21 =fey
(3) &N H FoA-T¥A U IuAH B BT

(4) SARTHEE HiH=R

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

The essential element mentioned in NEP-2020 with regard to Primary Education in is :
(1) Kindergarten scheme

(2) Functional literacy and Numeracy

(3) Foundational Literacy and Numeraecy

(4) Pre Primary Education

Trfiyer foren o Hay § T e Hifa 2020 § feafaa f@EE 0@ ©

(1) TerEwmed Asm
(2) U SIEE S W
(3) SRl Hiad oiR HerEE
(4) di-wreHd e

Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
« 3, Option ID :- 279,

- 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT22FEBSH1

Question ID:- 71




The following disability is an example of non functioning of muscle coordination due to damage in
Brain.

(1) Autism
(2) Dwarfism
(3) Locomotor disability

(4) Cerebral Palsy

frifera & & =i 4t fesaiar afcss faer & SR S9-TegdsH & F1 T80 F &1 See § ?

(1) effes

(2) @A

(3) A e

(4) YufET=F =G
Options:-

.1, Option ID :- 281,
- 2, Option ID :- 282,
« 3, Option ID :- 283,

- 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284

Question ID:- 72

Why is it often the children with mental illness refuse to seek professional help in school ?

(1) Hesitation
(2) Stigma

(3) Fear

(4) Ignorance

HATEREME H T dleieh SRR Shell H HeEl e Hes o+ J i 9 L od 8 7
(1) fe=r=

(2 FHAH

(3) 94

(4) 3
Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,




. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73
How can you make community as learning centre ?

(1) By organising community survey programmes by school children

—

2)  Visit of parents to schools
3 Visit of school children to park

(3)
(4) Through seminars or workshops

39 HHEE &1 ford yer siftm s | ufafia s s 22
(1) Tpell I GRI eI Gea FRiwT 1 ST
(2) wra-Taad 1 whd H W

(3) Tl Sl 1 UTH 1 SR

(4) HFEAR 71w 1 SEsH

Options:-

.1, Option ID :- 289,
. 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74
A local visit to Hospital by school children can be the best example of

Home-school relation

(1)

(2) Social seryice
(3) Project work
(4)

School-community relation

Tedl o= o T ST 8§ S et o 8 freen see €2
(1) TE-faeea ey

(2) |HS Har

(3) U %

(4) TEA-FHEA T




Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
- 3, Option ID :- 295,

- 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296

Question ID:- 75
Most of the children suffering from anxiety disorders are reluctant

1 to meet friends.

3

(1)

(2) toread and write.

(3) to seek professional help.
)

(4) to focus on examinations.

gfveia-fasr & difeq stfusrien arere fifra § § @0 & 3 feafran 22
(1) <3 e §

(2) e foem

(3) EAEHIHR TR AT HIA |

(4) TSl W oI Hied FE H

Options:-

.1, Option ID :- 297,
. 2, Option ID :- 298,
« 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76
What is the contribution of Sigmund Freud in Psychology ?

(1) Transactional theory

——

3

)
2)  psycho analysis
3)  Stimulus response
)

(4) Connectivism




THIfasE § famve wEe & #0 IeE § 2

(1) Hexasr fagid

(2) weifagerso

(3) SeEr-sTf

(4) HHHER
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
- 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

The children involved in community service programmes invariably develop ?

(1) Sense of Belongingness
(2) Satisfaction
(3) Pride feeling

(4) Responsibility

RIS | Her a9 R FEifna 3 9 e e g g ?

(1) ST ol HTEAl

(2)

(3) e Y e
(4) SEREIEE
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
- 3, Option ID :- 307,

- 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78




What could be the warning sign of mental illness among staff in schools ?

(1) Aggression

(2) Isolation

(3) Mood swinging
(4) Argumentative

el H R H A B0 ST 7§ 7

(1) SAThHBEHE

(2) TaafmE @
(3) TR H TR S
(4) ok fora g

Options:-

.1, Option ID :- 309,
. 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

What do you mean by "Megacephaly’ ‘with reference to mental health ?
(1) Small Sized Brain
(2) Large Sized Brain
(3) Small Size Head
(4)

4 Large Size Head

A T & ged § (Tmdthedt’ 3§ @ sifuda 82
(1) oY AR 1 HiET=h

(2) FBE HAHR I AfET=h

(3) Y RN & fE

(4) FEg R H

Options:-
.1, Option ID :- 313,
. 2, Option ID :- 314,

« 3, Option ID :- 315,




. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

Emotional support will go a long way to understand of children in school.
(1) Mental health issues

(2) Learning issues

(3) Personal problems

(4) Social problems

HATCHE T4 Thel | aeTehi & fohd =Is &1 99e | agd Hewd o ?
(1) WHATEE @ Hasl gaen

(2) @A @ wHEn

(3) EfeRTR e

(4) HrHITSTER T

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : SOL_Q81-Q90_PRT22FEBSH1
Question ID:- 81

The main purpose of assessment in schools is :

(1) To gauge levels of learning and remediation
(2) To measure anderstanding level of the subject
(3) To assess‘’knowledge level

(4) To know the attitude

el ST 1 T WA #1 §2
(1) eaferm T &1 S FE 3R 3TER
(2) Toword sl HHH % WX 1 =

(3) T o WL H HeAHA

(4) g 1 S

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,




. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Which one of the following leadership style is generally accepted in schools ?
(1) Democratic leaders

(2) Authoritative leadership
(3) Transformational leadership
(4) Servant leadership

THell § TTd: Wi Aged el fifed § | FE 2

(1) <IERaifER Jgc

(2) HERHF g

(3) UREdTHRI e

(4) Hifeh-rhT o HeY HgY g
Options:-

.1, Option ID :- 325,

- 2, Option ID :- 326,

- 3, Option ID :- 327,

- 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

What is the role of time - table in.school ?
(1) To complete syllabus in fime

(

2)
(3) To execute all intended programmes in orderly manner
)

(

To conduct examination on tme

=

"To carry out co-scholastic activities

Thol H YHA-TROT i A i €2

(1)  THT 9 YISThe T HE

(2) T W ged e

(3) =t Aifaa (aifed) wriwHl & ared g | HrEiad H
(4) HE-FHIT FHEFAY H TR

Options:-

.1, Option ID :- 329,
. 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331




Question ID:- 84

Which one of the following quality of Principal in school makes efficient leader ?
(I) Systematic plan

(2) Patience
(3) Sympathy
(4) Future vision

e H yrard # fifed 6 @ g 1o % faemm 3F % Bora®y 98 FEe Al 8 9T | 2

(1) =Hafed FrsH
(2 o

(3) W

(4) e g
Options:-

.1, Option ID :- 333,
. 2, Option ID :- 334,
- 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

The directive leader in school always commands :
(1) ‘Do what 1 say’.

(2) ‘Letus do quickly’.

(3) ‘I know you can do it’,
(4)

‘Do Immediately’.

e § Frewmeres o freifed § 9 @ Re Em e ?
(1) ‘=0 S FEagl

(2) ‘&9 36 FE e § g’
(3) ‘HIA UM R A T HFL HHd I
(4) ‘=9 deRE H |

Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86




What do you understand by Institutional plan in schools ?
(1) Plan to provide funds to school

(2) Itis perspective plan for all round development of school
(3) Plan to recruit teachers in time
(4) Plan for sports activities

foenerl & Heenfr drs | sTae A § 2

(1) Tper =1 FfeEr yem &3 %t A

(2) ¥ foenea & =g foamr & forn amw ¢ deuff a8
(3) A W et =i e w0 Heeh A

(4) Werghe i Tafaredl | Hated e |

2

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87

What is the main purpose of morning assembly in school ?
(1) Prayer
) To improve concentration
(3) To promote self-discipline
(4) To disseminate school information

(1) wef

(2) e T HER

(3)  SARH-STIMHA &l FEl ol
(4) Tpa § HEfUd g1 1 79N

Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88




What is the objective of school developmental plan ?
(1) To create healthy organisational climate in school
(2)

(3) To make provision for adequate financial resources
(4)

To cater to the needs of students

To develop school infrastructure

oo™ fasrm drsmr =1 =11 5299 & 2

(1) TFe H e GISAeH® TR GaR HA]
(2) To=nfei =t sewaswasi i gfd

(3) TATE fa<ia HEEEl &1 YEEE HE

(4) Thol ol FEHEAT TosRiad T

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89

What is the role of Parents Teachers Association (PTA) in schools ?
(1) Mobilisation of funds

@
(3) Social service

(4) Fault finding with school

Participatory approach

el H sfyress s EE (fe) & e we € 2

(1) fAfemEr e

(2) HEYR(T SUITH

(3) HHS Hal

(4) e o fegr=mm
Options:-

.1, Option ID :- 353,
. 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90




What is the advantage of pairing neighbourhood schools ?
(1) To organise sports events

(2) To conduct Teacher Training Programmes

(3) To conduct common activities

(4) Sharing of reesources and exchange of knowledge
ey feerg faamerl % Harae &1 = ey 2

(1) THe HREHH H1 A

(2) teAe (foaer) wfoEwn SHEwAT S HEe
(3) W Sl SIS

(4) HEHA I HEER SX FE-faE

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Subject : PE_Q91-Q100_PRT22FEBSH1
Question ID:- 91

The main purpose of Education is
(1) Self-Transformation

(2) Awareness of environment
(3) To earn livelyhood

(4) To gain knowledge

foren =1 77w §

(1) BTy

(2) TR AT

(3) enfsifesht sifsia e

(4) IH AT HEAT
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92




What is new curriculum design as per NEP - 2020 ?
(1) 5+3+4+4

(2) 5+3+3+4
(3) 10+2+3
(4) 6+3+2+4

sty T Hifd, 2020 % SFTEN TE gF=AT 1 0 ATH B2

(1) 5+3+4+4
(2) 5+3+3+4
(3) 10+2+3
(4) 6+3+2+4
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
- 3, Option ID :- 367,

- 4, Option ID :- 368,
Answer Given:- 2, Option ID : -366

Question ID:- 93

NEP 2020 focussed on following main issue with reference to Primary Education :
(1) To establish Primary Schools in all rural areds

(2) To achieve Free elementary educatieniby 2025

(3) To achieve Functional literacysand N’umeracy by 2030

(4) To achieve Foundational litetacy ‘and Nurneracy by 2025

g faven fifa, 2020 H wrafaes e & Heyf § geod: o o o o fean g2

(1) |eft arevor & A wverfres fearmerdi w1 e |
(2) =Y 2025 Wb fA-ek WRiveR fore o1 @& wr e |
(3) =¥ 2030 TF YFEIEHH WA IR HNFH F AT H1 YT HEAT|

(4) 9 2025 T g WeRa SR HEeAEE w1 s e

Options:-

.1, Option ID :- 369,
- 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94




NCEF - 2005 mainly focussed on :

(1)  Activity Centered learning
(2) Connecting knowledge to life
(3) A.V. aids based teaching

(4) ICT usage

T Y= 9w, 2005 H e e we W ge fom wn @2
(1) hEdwAY HiEd

(2) FH I SiEd § S

3) -5 SUHLU ST forerm

(4) AT SR AR GRifER w SeEn

_—

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
« 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

According to RTE Act 2009, No detention systemis applicable :

(1) Upto class VI
(2) Upto class IX
(3) Upto class VIII
(4) Upto class V

Tore =1 aferenr eafarfeem, 2000 % AR ‘i wifaie T& = =aeen feifea § 9 s ame 8 ang
22

(1) B3l %= dh

(2) e e A

(3) T3Sl w1 qH

(4) UT=al HaT aF
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96




What would be the minimum instructional hours per week prescribed for teachers as per RTE Act
2009 ?

(1) 45
(2) 35
3) 33
(4) 40

Toren =1 stfeeRr sifafam, 2009 % AR SeAvesl o fou gfd gwe Fae T = = fago e
e faman o 82

(1) 45
(2 35
(3) 33
(4) 40

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
« 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

Who coined the term first time ‘child centered education’ ?

(1) Spensor

(2) Aristotle

(3) Dewey

(4) John Adams

‘g1 Figa foen’ ugEy gdvey e giamfeg femar on ?

(1) &

(2) SRE

(3) =&

(4) = tsm
Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98




Who was the chairman of Calcutta University Commission ?

(1) A.O. Hume

(2) S. M. Sadler

(3) Zia-ul-Haq

(4) Radhakrishnan

FHershl Jafdel FHE & A HH 472
() T &gH

(2) TEw deer

(3) fo-3d-g%

(4) THBH
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
- 3, Option ID :- 391,

- 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99

What is the main principle of curriculum 2

(1) Principle of joy
(2) Principle of child-oriented
(3)  Principle of flexibility

)

(4) Principle of Manipulation

= 1 e gt o ?
(1) erE = fagia

(2) wregEl fagid

(3) @A F fHgia

(4) BeEsH w1 fEgla
Options:-

.1, Option ID :- 393,

« 2, Option ID :- 394,

- 3, Option ID :- 395,

- 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100




Prohibition of unrecognised schools is included in which section of RTE Act, 2009 ?

(1) Section 21
(2) Section 19
(3) Section 4

(4) Section 11

T ar=rar g faenerai = gfausr foen = sifusr sfafaem, 2009 =Y o ur & afmfem 22

(1) =21
(2) oW 19
(3) HI4
(4) =111

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
- 3, Option ID :- 399,

- 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Subject : HINDI_Q101-Q120_PRT22FEBSH1

Question ID:- 101

Frefafad & ‘' o o ssaro woE §

(1) =
(2) i
(3) A
(4) TeTH
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402

Question ID:- 102

Frefarfad § & -9 U sfoer=s e v T8 § 2

(1) @
(2) el
(3) =g
(4) &




Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Question ID:- 103

Frafafes § & ‘d' oir  fadmo’ =i gfie | - w57 o5 872

(1) TF-TAF
(2) FH-Iwq
(3) SHE-3HE!
(4) SYAL-EaLcH
Options:-

.1, Option ID :- 409,
- 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

Frefafaa & sga=r #1 gfic § HH-81 7= 98 768 € 2

(1) FHA-FHAT
(2) RTE-eIfeAl
(3) TSRS

(4) Tefi-uferT

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
« 3, Option ID :- 415,

- 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105




‘gt % e veg € -

(A) =

(B) Hfam

(C) &%

(D) BEH

(E) e
Frefafad § 9 9 sw 2
(1) (A)aﬂ?(ﬁ)
(2) (B) 3R (C)
(3) (D) ¥R (E)
(4 (A) (B), ¥R ()
Options:-

.1, Option ID :- 417,
- 2, Option ID :- 418,
- 3, Option ID :- 419,

- 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Question ID:- 106
Frefafea | srgm facmel s 7m 2 -
(1) FFE-JHEH
(2) SAAH-HSEA
(3) SHE-%H
(4) Se-ger

Options:-

.1, Option ID :- 421,

« 2, Option ID :- 422,

- 3, Option ID :- 423,

- 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107

(2)
(3) o9

49 =
Options:-

.1, Option ID :- 425,




. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108

Trefefea § 4, frg aem o ermds fHa = 82

(1) TTEH a8
(2) =S @ g

(3) V&S Y FIl 2
(4) HET @)
Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
- 3, Option ID :- 431,

- 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

Frefefad o wrew o wrw fora 1 gfe § wF-w 770 o 82

(1) =wdi-A

(2) =FH-F fo

(3) FHU-H (5R)

(4) FUEE-9
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

“F ofreet wen H Ugd g, 9T H Y@iihd ¥eS §

(1) g fasmm

(2) HerErEs favam

(3) [UrETE fasem

(4) IEwETEE oo
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,




. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

“gaqd =gd =4 gfew 9

e = wgd e H

& TE gfem 1

et e -t 71

I ey i 2" < e ute | faa g ?
(1) fe Seam SH

(2) TS, WS

(3) e Tl

(4) IAgA
Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112

‘o] A el Fedtd’ U8 % SHR W aaRy f wiel 7 STF % 9 W aw?

(1) fafe

(2) firered

(3) 9 T =

(4) ST H =
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

Question ID:- 113

‘g F = 99 U8 F YR W el fF 59 F e 9 | 2 2w ?
(1) s
(2) ERERT
(@) wEas
(4) < S aefEar




Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

- 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

‘Tt fopae’ U8 F YR W AR fF O T 9% 1 Hew S 3791 98 o U 99 o 98] 9% A o 5 ?
(1) T F 9HHA

(2) =gd WRl ferame

(3) =Ed HX HUS

(4) urerq fafeeat
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

YT, AT SR dgen  faefhel 2" % g ure § et o= 8 2

(1) =edEs

(2) foaett iR et

(3) T H Heg

(4) HIST |
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
- 3, Option ID :- 459,

- 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

Frfafas sl # s/Ema gm § -

(1) o= ame= ° <1 ufew &-gufean

)  H@E H UF SR YHINE §F arel-aradias
(3) Tomsie o dm i gi-fadm

(4) & UEE BT

1
)

—

Options:-
.1, Option ID :- 461,




. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

S8 TErITSt STOT A YA R el @ 61 SH S A o AU AR A S 8 | WS i WE-HEE Fi
St 2 1 E57 Rl TR TH-UFT 9 S 2 12 vifen whed 1

y&ga T faafha’ & few ae | fam e g2

(1) S Hare 391 SE =

(2) U9 SE g g

(3) T =i g

(4) Tk WY dH g@
Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118

it , fomn i s for e o = €2

(1) === = 3R

(2) g9, 99 T

(3) TEER HHI

(4) < feume
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

‘T = T =R

(1) = &6 T

(2) AT H R

(3) foresm | waife efmepen
(4) =T oiehehe

Options:-




.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

« 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475

Question ID:- 120

‘Taedt &1 I’ U1 | 1 Tl e § 2

(1) =% iR Ia9M % HIUaRa! ol FAiRal fHed §
(2) HITETEHI & S F W H qd Fewdl § |

(3) TS UETH H e ATt 99 i oA ISR Bt B
(4) o2l % ar § sravaes o 9 a3 8

b

Options:-

.1, Option ID :- 477,
- 2, Option ID :- 478,
- 3, Option ID :- 479,

- 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : ENGLISH_Q121-Q140_PRT22FEBSH1
Question ID:- 121

Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his fatherand left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi; Wheére after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was.acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetationthe could see. Day after day he sat in the sun and tore up by hand
the unwanted plants, All the jungle gradually disappeared and the land stood as bare as a
football field.

Velan left home as .
(1) he did not want to work in the fields.

(2)  he felt humiliated in the presence of others.
(3) he was not good at studies.
(4) he had got a job at Malgudi.

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,

- 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122




Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

Before Velan came to Malgudi :

(1) he did not get anything to eat.
(2) he even had to beg for food.
(3) both (1) and (2)
(4)

4)  he passed through a dense forest.

Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

- 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123

Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he«did:that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to.the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out'a garden. The garden existed only in the mind of the gardener.
What they could see.now 'was acres upon acres of weed-covered land. Velan’s job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

The old man in Malgudi :
(1) possessed a small tract of land.

2) wused to plant crops on his land.

e ]

(
(
(

)
) was passionate about gardening.
) lived in a big house.

=

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491




Question ID:- 124

Read the passage given below and answer the question that follow :

When he was eighteen, Velan left home. His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his father and left the place. He just walked out of the village, and
walked on and on till he came to the town. He starved for a couple of days, begged wherever
he could and arrived in Malgudi, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

Which of the following statements is NOT TRUE ?
(I) Velan was employed by the old man.

2 His job was to clear the land.

(58]

(
(
(

)
) He learnt to use farm implements.
)

=

Soon the land was fit for gardening.

Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Read the passage given below and.answer the question that follow :

When he was eighteen, Velan ’left‘home His father slapped his face one day for coming
late with the midday meal, and he did that in the presence of others in the field. Velan put
down the basket, glared at his fathér and left the place. He just walked out of the village, and
walked on and on till he came {6 the town. He starved for a couple of days, begged wherever
he could and arrived in Mal‘gudj, where after much knocking about, an old man took him on
to assist him in laying out a garden. The garden existed only in the mind of the gardener.
What they could see'now was acres upon acres of weed-covered land. Velan's job was to
destroy all the vegetation he could see. Day after day he sat in the sun and tore up by hand
the unwanted plants. All the jungle gradually disappeared and the land stood as bare as a
football field.

.. after much knocking about ......"
The underlined phrase means the same as :
(1) meeting different people

2 going here and there

LS ]

(
(
(

)
) trying several jobs
)

Sy

hitting some people

Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,




. 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

Choose the word nearest in meaning to the given one.
WISDOM
(I) Learning

(2) Sagacity
(3) Intelligence
(4) Density

Options:-

.1, Option ID :- 501,
- 2, Option ID :- 502,
. 3, Option ID :- 503,

- 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

Choose the word nearest in meaning to the given one.
Literacy

Y.

(1) Education

(2) Respect

(3) Industry

(4) Mercy
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
« 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 1, Option ID : =505

Question ID:- 128

Choose the word opposite in meaning to the given one.

Integrate

(1) Blend

(2) Disengage

(3) Impede

(4) Incense
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
- 3, Option ID :- 511,

- 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510




Question ID:- 129

Choose the word opposite in meaning to the given one.
Obvious
Ambiguous

=

Reluctant

3 Gloomy

(
(
(
(

Hes
e e el

Animated

Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

Identify the part of speech of the underlined word in the following sentence.
The other room has two beds in it.

(I) Noun

(2) Pronoun

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the part of gpeech of the underlined word in the following sentence.
The balloon was greunded by strong winds.

(I) Noun

(2) Verb

(3) Pronoun

(4) Adjective
Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132




Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) the ground

(B) thereisa

(C) for the policy on
(D) lot of support

(1) (&) (B) (C) (D)
(2) (B) (D) (O (A)
(3) (©) (D) (B) (A)
4) (D) ©) (B) (A)
Options:-

.1, Option ID :- 525,
. 2, Option ID :- 526,
. 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Question ID:- 133

Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) never heard the
(B) for the

(C) talented singer
(D) first week, he
1) (B) (D) (4) (©)
(2 (4)© D) ®)
3 (©) (D) B) (A)
@) (D) (B) (C) (A)
Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
- 3, Option ID :- 531,

- 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134

Choose the option in which the VOICE in the given sentence has been changed correctly.
The editor welcomes correspondence from readers.
(1) Readers are welcomed by the editor on correspondence.

(2) Correspondence from readers is welcomed by the editor.
(3) Readers with correspondence are welcomed by the editor.
(4) Readers’ correspondence is welcome by the editor.

Options:-




.1, Option ID :- 533,
. 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the option in which the VOICE in the given sentence has been changed correctly.
My first novel was rejected by two publishers.
(I) Two publishers rejected my first novel.

(2) Two publishers had rejected my first novel.
(3) My first novel rejected two publishers.
(4) My first novel got rejected two published.

Options:-

.1, Option ID :- 537,
- 2, Option ID :- 538,
- 3, Option ID :- 539,

- 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Question ID:- 136

Choose the correct preposition to fill in the blank in the following sentence :

She looked his face and felt sorry_ him.
(I) on;at

(2) at;on

(3) on; for

(4) at; for

Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Choose the correct preposition to fill in the blank in the following sentence :

She should have been promoted monitor the class.
(1) as;of

(2) for ; of

(3) as;in

(4) for;in

Options:-

.1, Option ID :- 545,
. 2, Option ID :- 546,




. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

Choose the option in which the NARRATION in the given sentence has been correctly
changed.

[ asked my brother, “What do you want me to do now ?”

(1) Ienquired my brother what did he want me to do now.

2) Ienquired of my brother what he wanted me to do now.

%)

)
) I asked my brother what he wanted me to do now.
4)

(
( I asked my brother what he wanted me to do then.
Options:-

.1, Option ID :- 549,

« 2, Option ID :- 550,

« 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139

Identify the tense in the following sentence.
Tomorrow, I am not going to school.

(I) Simple Present
(2) Present Perfect
(3

) Present Continuous
(4) Future Continuous

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 4, Option'ID : -556

Question ID:- 140

Identify the part which has an error :
Little fact would have averted the accident.

(2) (b) (©) (d)
(1) (a
2 (®
3) (9
(4) (d)
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,




. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Subject : MATHS_Q141-Q160_PRT22FEBSH1

Question ID:- 141

A bottle of juice contains 880 mL juice. The quantity of juice in 9 such bottles will be
(1) 7.920 L

(2) 7L810mL

(3) 7.180 L

(4) 7.290 L

Teh ST9 i el (9iTeft) H 880 mL STH @Al € | TEft 9 ST A1 sireedl (i) H @ ol = Bt

(1) 7920 L

(2) 7L810mL
(3) 7.180 L

(4) 7.290 L
Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,

- 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142

Weight of three friends Lily, Champa and Jasmine are 28.928 kg, 45.437 kg and 37.212 kg
respectively.

Based on above information, find which of the following statements is not correct ?

(1) Sum of weights of three'friends is 111.577 kg

(2) Difference of weight of Champa and Lily is 16.509 kg
(3) Average weight of Lily and Jasmine is 33.70 kg
(4) Weight of Jasmine is 8.284 kg more than that of Lily.

7 \ftgEl foett, =m oit SafEd &1 9 w9 28.928 kg, 45.437 kg 3 37.212 kg 7
TH SERRI o SR T T shifen fof Freafereid § @ 9 W %o 96 76 72

(1) i afEsl = F8 9 111577 kg ®

(2) =7 3iR fefeft & 9 3f 16509 kg ©

(3) foeft sir Swmfe &1 sfad wR 33.70 kg ©

(4) SEfE & 9w, el % 98 9 8.284 kg b §

Options:-
.1, Option ID :- 565,




« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

A man has an annual income of Rs. 12,400,40. During the year he spent Rs 98,020/- on rent,
Rs. 1,34,259/- on education of children and Rs. 7,34,294/- on house hold expenditure. At the end
of the year money left with him in (Rupees) is :

(1) 2,74,376
(2) 2,73,467
(3) 2,74,467
(4) 2,73,367

U TEHT i anfties 2THEAT 12,400,40 ®UU 2 |99 i a4 § 399 98,020 & fopyw 9, 1,34,259 & o=41
I TgE T 2R W F 3T Tl W 7,34,294 F @ R0 |99 F A0 H 3% I 99 Ui (T H) T
(1) 2,74,376

(2) 2,73,467

(3) 2,74467

(4) 2,73,367
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144

Observe the pattem gwen below and find the nussmg number (

B g g

7
4
S
9

—_— e~
(S I ]
e A i




i feu 7w Yo =1 Gaor s i faea demn ((2) 1 F6 S |

0, 2 ) @)
(1) 7

(2) 4
(3) 5
(4 9
Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
« 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

A triangular pyramid has :
(1 4 faces, 8 edges, 4 vertices.
(2
(3

(4

)

) 6 faces, 8 edges, 6 vertices.
) 4 faces, 6 edges, 4 vertices.
)

6 faces, 6 edges, 6 vertices.

e e fqufive & -

(1) 4%, 8 TR, 4 9id 2@ & 1
(2) 6%eH,8 FFAR, 691 B ¥ |
(3) 4 eTH, 6 TR, 4 v B &N
(4) 6FaF, 6 TR, 6 Y1 BHE |

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,

- 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146

The total length of the fence arround a square field is 572 m. The side of the square (in m) is :
(1) 144
(2) 143
(3) 142
(4) 138




T 6N W & =R AR F1 91g B! TEE 572 m T | FHR T A1 s (mH) T

(1) 144
(2) 143
(3) 142
(4 138

Options:-

.1, Option ID :- 581,
- 2, Option ID :- 582,
- 3, Option ID :- 583,

- 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147

) 1
Volume of a cubeid is g m?>. Its volume in cm? is :

(1) 1,20,500
(2) 25,000

(3) 2,12,500
(49 1,25,000

S~
e TFIY &1 ST — m3 8 | SHeRI T (armd) § o+

8
(1) 1,20,500

(2) 25,000

(3) 2,12,500

(4) 1,25,000

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
- 3, Option ID :- 587,

- 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148




How many angles are there in the given figure ?

C

D B
E < e > A
(1) 6

(2) 8

(3) 10

4 9

feu g fos o form o € 2

&
D B
E < ) > A
(1) 6
(2 8
(3) 10
(49 9
Options:-

.1, Option ID :- 589,
. 2, Option ID :- 590,
. 3, Option ID :- 591,

- 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149
8800909 can be written in words as :
(1) Eight crore gighty lakhs nine hundred nine
(2) Eighty eight lakhs nine hundred nine
(3) Eight. lakhs eighty thousand nine hundred nine
(4) Eighty eight lakhs ninety nine

8800909 =t W=l H foran < whal |
(1) 373 S & @@ A 4l =l
(2) eTEer @ A=A

(3) TS TG SR F9R A G A
(4) 3o arg e

2

Options:-




.1, Option ID :- 593,
. 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Question ID:- 150

The sum of the digits of a five digit number is 4. The product of the digits of this number is
® 0

2 1
3) 4
(4) 20

U Ui el Al HEa % S 1AM 4 ¥ |39 Hem % il 1 U ®

(h O
2 1
(3) 4
(4) 20
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

Seema goes to the market every,..altérnate day. If she went to the market on 5t December, then on
which of the following dates, she did not go to the market ?

(1) 15% Dec.

(2) 18% Dec.
(3) 21% Dec.
(4) 9% Dec.

i1 us fed Bigsht aeR Sl ¢ | 9fe 98 5 fedar =i arem 18 off o fAefated aial ° | fy e a8
SR & TS of ?

(1) 15 fedsr
(2) 18 fed=R
(3) 21 feger
(4) 9 fegst
Options:-

.1, Option ID :- 601,




. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

Choose the odd one out.

[ ]
(1) °
®
[ ]
)
® ®
®
[ ]
3)
®
®
®
(4
L ]




o =1 A8 T |

®
[ ]
(1)
®
@
(2
® ®
®
]
(3)
[ ]
®
(4)
®
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
- 3, Option ID :- 607,

- 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153

A box has 30 marbles in which™10 are white, 15 are red and rest are yellow. Number of yellow
marbles are patt of the total marbles.

(1) 5
i

@ z
1

® 3

e )
He
e

o | Ui




us fesd # 30 %9 € 5 & 10 g, 15 @ &R 99 diet €1 diet =i & e $a Sl o g9
Eal qT 2

(1) 5
1
@ 3
1
® 3
5
S
Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

The total number of triangles in the figure are

A\

(1) 11
(2) 9
(3) 8
(4) 10
o o Fregeil i e & -
(1) 11
(2) 9
(3) 8
(4) 10
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,




. 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155

Yusuf purchased fruits & vegetables for Rs 435.45, stationery for Rs 124.88 and medicines for Rs
219.76. If he went to the market with Rs 1000, then amount left with him (in Rupees) is :

(1) 218.31

(2) 218.09
(3) 219.91
(4) 219.11

TGF 7 435.45 F FI el IR Ffesa, 124.88 F T WIFA 3R 219.76 F FHI g9 T | A 98 IR
H 1000 & WY AT 1, 1 STh I 99 AWM(FTE H) )

(1) 1218.31
(2) 218.09
(3) 219.91
(4) 219.11
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

The greatest number of five digitsswhich is exactly divisible by 64 is :

(1) 99968
(2) 99988
(3) 99994
(4) 99894

1 i Ft gag 9t gem, s fF 64 9 gofaan fenfem & s, # -

(1) 99968
(2) 99988
(3) 99994
(4) 99894
Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622




Question ID:- 157

Roman numerals CCLX, CCXC, CCXX, CXC, CCXL in the decreasing order are :
(1) CCXC, CCLX, CCXX, CCXL, CXC
(2) CCXC, CCXL, CCLX, CCXX, CXC
(3) CCXC, CCLX, CCXL, CCXX, CXC
(4) CXC, CCXX, CCXL, CCLX, CCXC

UHT i CCLX, CCXC, CCXX, CXC, CCXL %! =2d %4 H faan 5 gehal ¢
(1) CCXC, CCLX, COXX, CCXL, CXC
(2) CCXC, CCXL, CCLX, CCXX, CXC
(3) CCXC, CCLX, CCXL, CCXX, CXC
(4) CXC, CCXX, CCXL, CCLX, CCXC

Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158

In the following table, there are two columns Arand B. Column A has some items and column B
has units of measurment. Correctly match items’ ‘of column A with that of B.

A B
Items Units of measurement

(a)  breadth of water pipe (1) km
(b) length of high-way (i) cm

(c) length of a room. (iii) —mm

(d)  breadth of niote book (iv) m
(D) (a) - (i), (b)), () - (), (d) - (i)
(2 (@) - @), (b) - (v), () - (), (d) - (i)
(3) (a) (i), (b) - (iii), (c) - (iv), (d) - ()
4) (@) - @), (b) - (1), (c) - (i), (d) - (iv)




et aferert 9, 1 &9 A SBR | T A H F0 98 (13eH) € SR B Y A9 A 3HEA ¢ WY AH
fu T wef =1, w9 B W HE faem #ifsw |

A B

Lo AT FRTSAT
(@)  WH % WEY i HeE () km

(b) TS T (i) cm

()  FHLH IR (i) ~mm

(d) =it =t =R (iv) m

(1) (@) - (i), (b) - (), (c) - (iv), (d) - (i)
(2 (a) - (i), (b) - (iv), () - (), (d) - (i)
(3)  (a) - (@), (b) - (iid), (c) - (iv), (d) - (i)
(4)  (a) - (), (b) - (ii), (c) - (iii), (d) - (iv)
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159




Pramod is a student of class IV. He has a small library in his room. His father helped him to draw
a bar chart of books, which is given below.

—> No. of books

Y
A

10 —

Qo
|

o
|

s

11 all

Oé%‘éy&@@ﬁ&@&

@*‘q"o{% v
P
—>»Subjects

Based on this bar chart, some statements have been written.‘Choose the wrong statement.

(D

Number of story books are 10 times of GK books:
Horizontal scale represents subjects.

Number of math books are double of English beoks.
Total number of books are 35. \




YHIE FAT IV & B9 & | 39 F H UF DI THHEd § | 39 fuarst 3 & % fou gve = 59 o
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(1) el 1 Geshi o G, St & (=T ) i Gl Fh 10 07 2 |
(2) afast Yo, fawl = yefia s g |

(3) IoT Y R W He, S g B e

(4) TEH I F HEAN 35 B

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
- 3, Option ID :- 635,

- 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160

In a measuring eylinder, water is filled upto 50mL level. Now, Shubham dropped seven marbles
into it and water level reached to 85mL. If he drops 10 more marbles, then level of water will be :

(1) 100 mL
(2) 135 mL
(3) 105 mL
(4) 140 mL




U Ak g (fafeisr) # o &1 R 50 mL B 1 gy | 3HH 96 e Sl AR I S R 85mL Ugd
1 1 Afe F' 10 9K 9 ST <A1 8, @ U R a1 S

(1) 100 mL
(2) 135 mL
(3) 105 mL
(4 140 mL
Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

- 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT22FEBSH1

Question ID:- 161

Below are two statements. Choose the correct answer from given options.

Statement (I) : Food is a fuel for our body.

Statement (II) : In our body, food is broken down by reaction.with oxygen and heat is produced.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is ttues

=1 21 e feu mu ) feu o fasedi § § get 3w @ =99 i
A (1) : oIS AR IR FoAq Whger 2 |

AT (I1) : TR IR T oirsr ateeftsr & srfufsran s srqefeq g & &R o s 2t ¥
(1) e (1) 3 (1) < FE

(2) e (1) 2R (1) ZF e § |

(3) R (I) TS &, W FHAF (II) Terd |

(4) HY (I) oW T, T HA (II) T T

Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 3, Option ID : -643

Question ID:- 162




Which of the following statements is true about plastic ?

(1) Plastic is also a polymer like a synthetic fibre.

(2) All plastics have the same type of arrangement of units.

(3) All plastics have linear arrangement of units.

(4) All plastics have cross-linked arrangement of units.

Frefafed § & #E-91 F97 wfies & a8 d 981 § 2

(1) Eelfte I #i g =i ot T Fges ¢

(2) |l wnfewl § Sl 1 N UH & YR Hi edl 8|

(3) it wnfesi § goEdl i e Wiy 2t ¥

(4) |l ikl W ehedl ot wrawen fadseg (Figas) 2l &
Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
« 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

Match the following :
Plant disease

(a) Rust of wheat (i)

(b) Mosaic of Okra (i)
(c) Citrus canker (i)
Code :

D) (@), ®)-(i), (c)-(ii)

(2 (@), ®)-(), (©)-(i)

(3)  (a)-(iid), (b)), (-

(4)  @-(1), (b)-(i), (©)-(i)

Mode of Transmission
Insect

Air and seed




ey IR HEUT T TrehT
() TEHE G) e
(b) et =1 diq (i) opEe @Y
(c) e e (iii) = TS ST
e
(D) (a)-(), (b)-(ii), (c)-(ii)
(2)  (a)-(iid), (b)-(1), (c)-(ii)
(3)  (a)-(id), (b)-(ii), (c)-(1)
(4 (a)-(), (b)-(iii), (c)-(ii)
Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

Which of the following are true in the context of mictoorganisms ? Choose the correct answer.
(A) Microorganisms are found in the marshy lands but not in the desert.

(B) Microorganisms are found in the bodies of erganisms including human beings.

(C) Microorganism like algae cannot live alone.

(D) Microorganisms cannot live in cold environment.

(1) Only (A)
(2) Only (B)
(3) Only (A) and (C)
(4) Only (B) and (D)

Frefafed 4 @ geasia & g2 9 o1 9El € 2 9 I Ferdl 9§ el STl T A -
(A) TSI goreel |l I S § ol meed ¥ e |

(B) ausia A= wigd Wit Sigedi & wiR % ig ot w5 F

(C)  erian S8 gersia foesge s1shel 7 1@ T 7

(D) Qewsita 22t uitfeufa # Sifad 78 @ 9&d 21

Fad (A)
(2) e (B)
(3) Ed (A) FR (C)
(4) HEE (B) AR (D)

Options:-
.1, Option ID :- 653,




. 2, Option ID :- 654,
. 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 4, Option ID : -656

Question ID:- 165

Think about the following statements and choose the correct answer.

(A) Plants contain nearly 90% water.

(B) Nutrients dissolved in water are transported only upto the roots of the plant.

(C) Nutrients dissolved in water protects the crop from both frost and hot air currents.
(

D) Fields do not have to be watered regularly to maintain the moisture of the soil for healthy
crop growth.

(1) Only (A) and (B)
(2 Only (A) and (©)
(3) Only (A), (B) and (C)
(4) Only (A), (B) and (D)

19 feu e el W foam #{ ol 9@l w99 # -

(A) el H Fme 90 wfaeH Se 2

(B) & H goI §U UIveh o TR shael WiHl % STel ok o1 el & 1
(C) T H Fol §U IR HHA ohi UTel TS TH gl A4 Hd1 §

(D) Wtﬁwq’@%mﬁ?aﬂﬁﬁmnmwﬁ%

Options:-

.1, Option ID :- 657,
. 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659

Question ID:- 166




Consider the following statements and select the correct answer.

(A)

n —
=)
2808

R A e e
3 v 3

I [ £ =

et e e e

He

Excessive use of fertilizers lead to increase in the crop production and also increases the
fertility of the soil.

We should use fertilizers instead of organic manure to maintain the fertility of soil.
Field should be left unsown for some time between plantation of two crops.
Manure increases the soil’s composition and its water retention capacity.

Frefafaa Heri w faar w1 sl fou v Fe =+ gema | 98 SO w9 w1

(A)
(B)
(©)
(D)
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1
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)
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Sl % sreafos SR & e i sl Sus W 2R @i fug A set off w3
forgt ot welea oY T 3 forn o S @i % A W SR w1 Sy e it
3 e % o H B 5 g % o fa Fe S S S =

St & S G gt 3 e e el i e 8 Shge &

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

- 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Why do potted plants die due to overwatering ?

(D)
(2)
(3)
(4)

Because water becomes acidic.

Because water becomes basic.

Because the atomic structure of water gets changed.
Because roots are unable to respire.
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Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 4, Option ID : -668

Question ID:- 168

Suppose you are stuck in a storm accompanied by lightening. Which of the following actions will
you take immediately ?

(1) Getting out of the car or bus.

(2) Taking shelter under a big tree.
(3) Getting inside a building,

(4) Taking shelter in an open garage.
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Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

- 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

Below are two statements. Choose the correct answer from the given options :
Statement (I) : Polar Bears walk fast to keep themselves warm.

Statement (II) : Polar Bears rest often to avoid getting overheated.

(1) Both Statement (I) and (II) are true.

(2) Both Statement (I) and (II) are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.
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Options:-
.1, Option ID :- 673,

. 3, Option ID

Answer Given:-

« 2, Option ID :-

- 4, Option ID :-

674,

- 675,

676,
3, Option ID : -675

Question ID:- 170

Following are the parts of alimentary canal. Choose the correct answer with the help of given
codes.

(A) Salivary gland
(B) Pituitary gland
(C) Buccal cavity
(D) Small Intestine
(L) (A) & (B)

(2 (B) & (©)

(3 (O & (D)

(4) (A) & (D)
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(2) (B) ¥R (O)
(3) (O ¥R (D)
(4) (A) ¥R (D)
Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,




. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

is a plant having colourful leaves and is used by farmers to know whether the soil of
a field is wet or dry.

(1) Tulsi

(2) Marigold
(3) Croton

(4) China Rose
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Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

Sunita Williams told few things about the space. Choose the correct statements from the
following :

(A) Can't stay at one place.

B) Water also doesn’t stay at one place.
C) Hair always remain down.

D) Paper also doesn’t stay at one place.
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(4) (A), (B) ¥R (D)
Options:-

.1, Option ID :- 685,
. 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 4, Option ID : -688

Question ID:- 173

Which of the following musical instruments are made tip of a dried gourd ?
(1) Been, Dhol and Jal tarang

(2) Tumba, Been and Dhol

(3) Been, Tumba and Khanjiri

(4) Been, Dhol and Khanjiri
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Options:-

.1, Option ID :- 689,
- 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174




Children of Holgundi village of Karnataka formulated a Panchayat to remove the shortage of
water. At present, this Panchayat is famous by which name ?

(1) Ranga Sangh
(2) Bhima Sangh
(3) Bhishma Sangh
(4)

4) Arjuna Sangh
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Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

- 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

There is a place in India where there areflowers everywhere in particular months. This place is
called “Valley of flowers’. In which, state is this place located ?

(1) Sikkim

(2) Uttarakhand

(3) Himachal Pradesh
(4) Meghalaya
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Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
« 3, Option ID :- 699,

« 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698




Question ID:- 176

Below are two statements. Choose the correct answer from given options.

Statement (I) : ‘Lekha’ is the name of a place which is used for keeping sheep and goats.
Statement (II) : The walls of ‘Lekha’ are prepared by keeping stones and rocks on one another.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.
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Options:-

.1, Option ID :- 701,

- 2, Option ID :- 702,

- 3, Option ID :- 703,

- 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

The work of Fireman (Fire extinguishing person) is to :
(A) Dbreak the flow of air.
(B) reduce the temperature of fuel.

(C) increase the flow of air.

(D) increase th&temperature of fuel
() Only (A)

(2) Only (B)

(3) (O and (D)

(4) (A)and (B)
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Options:-
.1, Option ID :- 705,
. 2, Option ID :- 706,

- 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

Which of the following is true about forest ?
(1) TItisa system comprising of various plants only.

(2) Init, trees form the upper most layer fo]]owgdjaﬁy herbs and the lowest layer of vegetation is
made of shrubs.

(3) Forests keep on growing and changing buit they can not regenerate on their own.
(4) Forests are the life line for the forestdwelling communities.
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Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

- 4, Option ID :- 712,
Answer Given:- 2, Option ID : -710

Question ID:- 179




Which of the following statements is false :

(1)

The people who can neither speak nor hear, explain their words to the others through actions.

The people who can neither speak nor hear, understand what the other person is saying by
studying their lip-movements.

The people who can neither speak nor hear like everyone, cannot be admitted in a government
school.

The people who can neither speak nor hear like everyone can be admitted in special types of
school.
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Options:-
.1, Option ID :- 713,
. 2, Option ID :- 714,

. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

Choose the correct option from the gi\;en.féahues of desert plants.

(A)

(B)
(©)

(1

[Fe]

)
(2)
(3)
(4)

Leaves of some plants take the shape of spines.
Photosynthesis in cactus p]ﬂﬂi‘is usually carried out by leaves.
Roots of most desert planf;s g0 very deep into the soil for absorbing water.

Only (A)
(A) and (B)
(A) and (C)

(B) and (C)
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Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
« 3, Option ID :- 719,

- 4, Option ID :- 720,
Answer Given:- 3, Option ID

. =719
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